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QUESTION 1

A new system architect asks you how user access to attachments is managed. In your response, you indicate there are
two ways to configure attachment access. Which statement is the best next sentence of your response?

A. User access can be configured by when rule or case type.

B. User access can be configured by privilege and/or when rule.

C. User access can be configured by attachment class.

D. User access can be configured by circumstancing the attachment category.

Correct Answer: B

QUESTION 2

What task must you perform in order to persist a temporary case?
A. Add a Persist Case SmartShape to the process.

B. Add an object ID to the case

C. Add a persistence condition to the case type.

D. Configure pyStartCase to persist a case.

Correct Answer: A

QUESTION 3

A service receives a request to assign an office to a new employee.

The service rejects the username and/or password provided.

What type of fault condition do you configure to return an appropriate response?
A. Security error

B. Queue when

C. Service error

D. Mapping error

Correct Answer: A
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QUESTION 4

Which two of the following steps do you perform after you develop branch rules and before you merge a ruleset?
(Choose Two)

A. Check in rules to merge

B. Review conflicts and warnings
C. Check out rules to merge

D. Use DB trace to identify conflicts

Correct Answer: AB

QUESTION 5

A health plan application includes a process for surgical procedure requests. Currently, there is an evaluation
subprocess in which a physician reviews the diagnosis and enters the recommended procedure and its urgency. The
request then advances to a medical director who analyzes the feedback and approves the appropriate procedure. The
health care organization has created a new requirement, which states that three physicians can perform the evaluation
independently. Only two evaluations are necessary to advance the case to the medical director.

How do you configure the process so that the request can continue to be processed if only two of the three physicians
approve the order?

A. Use an Any join condition.
B. Use a Some join condition.
C. Use a decision table.

D. Use a validate rule.

Correct Answer: B
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